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KA A B e R EE TR RE  RER AEAE EoF D
F< A FELA 1500 100. 0 72.9 58.8 75.8 100. 0 96. 5 95. 8 100. 0
G F G FTF f 2000 7.7 0.0 9.4 7.8 4.2 0.0 0.0 2.5
AR PR TFT T 1000 i | 2.5 10.0 8.4 0.0 0.0 0.0 0.0
Byl —gaFii 2000 478 o7 4.0 0.0 0.0 0.0 0.0 0.6
HoBFmdu T I 1000 100. 0 100. 0 100.0 100. 0 100. 0 100. 0 100. 0 100.0
AR v ZHH 1000 100. 0 100. 0 100. 0 100. 0 100. 0 100. 0 100. 0 100. 0
= g e S B e Y 2000 100. 0 100. 0 100. 0 100. 0 100.0 100. 0 100. 0 100. 0
24 pEH—RFTOT T 1000 100. 0 100. 0 100.0 100. 0 100. 0 100. 0 100. 0 100.0
Wyt h P ETH 2000 30.9 45. 4 41.2 36.5 26.9 53. 3 82.1 27.9
A il NFRT T 2000 - S - - 100. 0 100.0 - -
HE QL (7.2} (8. 4) (9.5) (2.9) (14.7 (20.8) (9.0) (4.9)
) L) 1TEAMEOERTE (%)
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A=A MELA 1500 98.5 91.3 82.6 97.3 89.5 76. 3 88. 2 99.6
H—iFF T I 2000 41, 2 1.5 0.0 0.0 1.2 2 | 16. 0 20.4
F—FFu T E(157T) 2000 88. 8 2.5 22.6 1.8 0.0 20 8.7 1.4
PN T H T 1000 100. 0 100.0 100. 0 100. 0 99.1 100. 0 100. 0 99.5
Rt gl — 0T T 2000 100. 0 100.0 100. 0 100. 0 100.0 100. 0 100. 0 100. 0
A= Arm N e 1000 100. 0 100.0 100. 0 1060 100. 0 100. 0 100. O 100. 0
IRy 7HH 1000 100. 0 100.0 100.0 100.0 100.0 100. 0 100. 0 100.0
S P 2000 100. 0 100.0 100.0 100.0 100.0 100. 0 100. 0 100.0
2if ho—sp I EH T 1000 100. 0 100.0 100.0 100.0 100.0 100. 0 100. 0 98. 1
dpvead bR T A 1000 100. 0 100.0 100.0 100. 0 100.0 100. 0 100. 0 100.0
RoF e VI ET T 2000 - - ~ 100.0 100.0 - =
4B AL B = (4.2) 1(22.6) [(1..2) (11.3) (4.2) (7.9) (2.8) (7.2)
AL FE (15°C) (2.2) (4.0) (8.3) (1.4) (5. 4) (1.8) (7.3) (1.2}
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